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A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar

I = (—1.15739 x 10%%u?! 4 2.59794 x 103842 + ... + 5.63971 x 10*9b + 2.94029 x 10*?,
1.52370 x 103%2! — 3.15147 x 10%%u?° + - .- + 5.63971 x 10*%a + 6.37897 x 100, u?? —u?* ... — Tu + 1)
Iy = (2u'® — 2u® + 3u® — 5u” — u® — 3u® — 5ut + 8u® — 6u? + b+ 8u—1,

u® —uf® —u” =l S =20t 4 3ud fa—ut2, utt —u® - 3u” —ub — 30 4 2ut 20 4 3u— 1)

* 2 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.

It = (—1.16 X 1033421 +2.60 X 103342% 4. . . 4+ 5.64 X 10°b+2.94 X 10%?, 1.52 X

103921 —3.15x 1038420+ . .+ 5.64 X 10320+ 6.38 X 1040, 422 — 214 ..

(i) Arc colorings

v ()
)

—0.270174u?! 4 0.0558800u20 + - - - + 42.5373u — 11.3108>

ag =

as = \0.0205221u?! — 0.0460651u?" + - - - 4 6.82322u — 0.521354

)

—1.35047u?" 4+ 1.35347u?0 + - .- — 117.421u + 7.69784
—0.209846u2! 4+ 0.147595u2° + - - . — 6.54594u + 0.116749

2.15834u2! — 2.04296u2° + - - - + 162.698u — 7.98991
0.318765u2! — 0.225148u2° + - - - + 8.95792u — 0.0968802

1.18213u2t — 1.17546u?° + - - 4 97.8267u — 4.07571

as = (0 214154u*" — 0.137619u* + - - - + 5.41053u — 0123423)

aq =

ag =

—0.256597u?! 4 0.176966u*" + - - - — 3.09765u + 0.0237528

—1.66406u2" 4+ 1.47272u2%0 + - .. — 96.5661u — 0.246377
—0.227217u?! 4+ 0.158707u20 + - .. — 3.42237u — 0.167580

1.83958u?! — 1.81781u?0 4 - - 4+ 153.740u — 7.89303
0.318765u! — 0.225148u2° + - - - + 8.95792u — 0.0968802

—0.297455u?! +0.112963u° + - - - + 34.4842u — 10.5752
a7 = \0.0338753u2! — 0.0534463u?0 + --- + 7.05911u — 0.551156

( 1.14063u?' — 1.20587u?° + - - - + 110.875u — 7.58109 )
a2 =

—1.66406u?! + 1.47272u*" + - -+ — 96.5661u — 0.246377 )

[

as =

0.209846u2! — 0.147595u2° + - - - + 6.54594u — 0.116749

(ii) Obstruction class = —1

(iii) Cusp Shapes = —1.01325u?! + 1.04755u?° + - - - — 80.2731u — 9.63814

-—Tu+1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u?? + 9uP + - 46370+ 49
Co,C7 w4+ u?t 4+ —35u—7
c3,Cs5, C12 w2+ o —u+1
€4 u?? 20t + . —Bu+1
€6, C10 w420 .- — 66u — 19
c8 u?? — 3u* + ...+ 85u + 23
€9 u? — w4 —Tu 1
c11 u?? —6u?t - —2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Y2 4+ 19921 + ... — 134113y + 2401

C2, C7 y*2 —9y*t ... — 637y + 49

c3,Cs5, C12 y22 —20y21 4+ =8y +1

¢4 y?2 — 40y + - — 25y + 1

C6, C10 Y2 4+ 2497 + ... — 4660y + 361
c8 y*2 + 2992 + ... — 9065y + 529
C9 y2 4392 1Ty + 1
c11 y*2 =52y ... — 36y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = 0.922193 4 0.4519691
a = —0.140167 + 0.0798971
b = —1.135600 + 0.6253681

—3.68279 — 0.941851

—15.4912 + 3.16801

u = 0.922193 — 0.4519691
a = —0.140167 — 0.0798971
b= —1.135600 — 0.6253681

—3.68279 4 0.941851

—15.4912 — 3.16801

u = —0.918387 + 0.5900131
a= 0.823390 + 0.3187471
b= 10.795349 + 0.3319621

—0.88400 — 1.537631

—11.84759 + 1.755421

u = —0.918387 — 0.5900131
a= 0.823390 — 0.3187471
b= 10.795349 — 0.3319621

—0.88400 + 1.537631

—11.84759 — 1.755421

u = —0.015535 4 1.1135107
0.50175 + 1.354521
b= —0.093079 — 0.6995781

a =

—1.24345 — 2.091621

—12.32634 + 3.764791

u = —0.015535 — 1.1135107
a= 0.50175 — 1.354521
= —0.093079 + 0.6995781

—1.24345 4 2.091621

—12.32634 — 3.764791

= —0.626888

b
uw= 1.14626
a
b= 0.600846

—7.73402

—2.06680

u= 0.40719 + 1.440711
0.364074 — 0.9305431
b= —0.38730 + 1.378481

a =

1.70191 + 1.705981

—14.8255 — 1.41321

u= 040719 — 1.440711
a= 0.364074 + 0.9305431
b= —0.38730 — 1.378481

1.70191 — 1.705981

—14.8255 4 1.41321

u = 0.317847 + 0.2690461
a= 2.62385 —0.790461
b= —0.085195 + 0.9034801

1.56638 + 2.343231

—10.66731 — 5.681741




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u =
a= 262385+ 0.790461

b= —0.085195 — 0.9034801

0.317847 — 0.2690461

1.56638 — 2.343231

—10.66731 4 5.681741

u= 0403521

a= 231915 —13.6204 —17.7340
b= 1.67477

u = —0.352636

a= 0.655926 —0.550682 —18.1690
b= —0.220728

u = —1.87169

a = —0.326736 —14.8041 —12.3900
b = —0.803005

u= 0.0195375+ 0.11774801

a = —10.81320 + 5.824061
b= —0.225273 + 0.7606171

—3.29787 + 5.709361

—15.2173 — 7.80091

u= 0.0195375 —0.11774801

a = —10.81320 — 5.824061

—3.29787 — 5.709361

—15.2173 4 7.80091

b= —0.225273 — 0.7606171
u= 0.78622 + 2.427331

a= 0.107388 — 0.6749681
0.95174 + 2.081231

5.54115 — 10.774801

u= 0.78622 — 2.427331
a= 0.107388 + 0.6749681
0.95174 — 2.081231

5.54115 + 10.774801

u = —0.24073 + 2.683611
a = —0.036423 — 0.6233681
b= 0.27638 + 2.411671

8.25134 4 2.561041

u = —0.24073 — 2.683611
a = —0.036423 + 0.6233681
b= 0.27638 —2.411671

8.25134 — 2.561041




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—0.44105 + 2.799321
0.058592 + 0.6037761
0.77704 — 2.391891

11.22440 4 4.412411

—0.44105 — 2.799321
0.058592 — 0.6037761
0.77704 4 2.391891

U
a
b
U
a
b

11.22440 — 4.412411




ILIY = (2u® —2u®+---+b—1, u!® —u® —u” —ub +u® — 2u* + 3ud +a—
u+2, utt —u® — 3u” — ub — 3u® + 2u* + 2u® + 3u —1)

(i) Arc colorings

o (1)
)

ag =

— 0+ "+ ub — w20t — 3+ u—2
—2u10 + 202 — 3u® + 5u” + ub + 3u® + 5ut — 8ud + 6u? — 8u+1

)

210

a:

S

— w4+ u® —3u" —3ub — 2 —But 5 —uE+2u+2
uw?+1
U 2u? + 3ud — 4u” + 208 2u52u4+6u38u2+8u4>

aq = (2u10 3u? + 3u® — 6u” + ub —w® — 3ut 4+ 11w — Tu? + 9u — 3

ag = 2u10+2u —3ud +5u” 4+ ub + 3ud + 5ut — 8ud +5u? —8u+1

20+ 208 —3u" +uwb — 2t + T -5l +hu—1
2u10+3u —3ud +5u” — ub + ud + 4u* — 10u® + 8u? — 6u + 2

09249 +2u8 —3u” +ub —2ut + 7w —5ul + bu—1
4u10—|—5u —5ud + 100" + 2u® + Tut — 19u3 + 12u% — 13u + 4
—u 4 o S — W ut —but —uw—u—1
2u10 3u? + 3ud — 6u” + ub —uw® —3ut 4+ 11w — Tu? + 9u — 3

wl — u? 4+ 208 — 3u7 — 2uP 3u4+4u35u2+5u2)

—2u10 4+ 20° — 2u® + 4u” + ub + u® + 5ut — Tud + 5u? — 4u >

ag =
ayp =
a5 =

a7 = -1

2ut0 — o + u® — 3u” — 3ub — 20 — But + 5ud — 202 + 2u+1
a1z = w41

(ii) Obstruction class =1

(iii) Cusp Shapes
= 18019 — 18u° + 22u® — 4507 — 8ub — 17u® — 37u* + T6u> — 49u? + 62u — 28



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 ut — 1200 . 4 190 — 1
€2 ult — 6u® 4+ u® + 140" — 4u8 — 17u® + 6ut + 110 — 5u? —3u+ 1
c3,Cs utt — w0 — 70 4 6u® + 1807 — 1268 — 200 + 8ut + T+ +u—1
C4 ut + '+ Tu— 1
6 u't +ut? —u® +2u® — 20 4+ 3u® — 3ut +u? —2u 41
7 utt — 60 — u® + 140" + 408 — 17u° — 6ut + 116 4+ 5u? — 3u — 1
Cs w20 Fu® — 30" — 3w — 208 20— 1
€9 u —u® — 30" — u® — 3u® + 2ut 4+ 20 + 3u—1
C10 utt — 0t — 0 — 20 208 + 30 + 3ut — P —2u—1
11 ut+11u 4+ 6u+ 1
Cra ™+t — 70 — 6u® 4+ 18u” 4+ 120 — 200 — Sut + Tud —w +u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 yt =16y + -+ 155y — 1

ca,C7 gt =120 19y — 1

c3,Cs5, C12 y11 —15y10+--~+3y—1

Ca ytt =310 . 4 15y — 1

€6, C10 y —3y" —3y° +6y° +8y" +2y° — 5y’ — 9yt — 2% + 5y’ + 2y — 1
Cs Yt —2yt0 — 5% + 24 +9y7 + 5y — 2% — 8yt — 69> + 32 + 3y — 1
Co ytt — 6y — Ty® + 11y" 4+ 27y° + ¢° — 36y* — 16y + 16y% + 9y — 1
11 =23y . 10y — 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
u=0.946698
a = —1.31867 —10.8918 —14.2030
b= 0.570624

u = 0.107517 4 0.9213261
a = —0.41829 + 1.759251
b= —0.627508 — 0.7768781

—1.39916 + 0.857731

—12.76968 + 1.459701

u = 0.107517 — 0.9213261
a = —0.41829 — 1.759251
b= —0.627508 4 0.7768781

—1.39916 — 0.857731

—12.76968 — 1.459701

u = —1.13392

a = —0.477082 —8.01807 —30.7780
b= 0.739267

u=—1.14734

a = —0.896870 —12.5057 —9.97480
b= —1.75156

u = 0.206612 4 1.1300107
a= 0.53803 — 1.364621
b= —0.270708 + 1.0182401

2.65235 4 1.783461

—4.71612 — 3.097441

0.206612 — 1.1300101
a= 0.53803 + 1.364621
b= —0.270708 — 1.0182401

u =

2.65235 — 1.783461

—4.71612 + 3.097441

u = —0.562339 + 1.0944901
a= 1.066280 + 0.7655721
b= 0.113141 — 1.0038001

—2.63212 — 4.421901

—12.78415 4 2.936931

u = —0.562339 — 1.0944907
a= 1.066280 — 0.7655721

—2.63212 4 4.421901

—12.78415 — 2.936931

b= 0.113141 + 1.0038001
u= 1.52035

0.0829538 —15.4881 —24.9010
b= 1.10046
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Solutions to I¥ V—1(vol + v/—1CS) Cusp shape
u= 0.310641
a = —1.76236 —2.97640 —11.6020
b= —1.08864
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ('t — 1200 4 - 4 190 — 1) (6 + 9u® + - - - 4 637u + 49)
o (u't — 6u® + u® 4 14u” — 4u® — 170° + 6u* + 116> — 5u? — 3u + 1)
(P4t = 35u—T7)
cs, Cs (' —u® — 7u® + 6u® 4 18u” — 12u8 — 20u® + Sut + Tud + u? +u — 1)
(P 2utt 1)
4 (™ a4 Tu = D) (W2 20 = Bu 1)
6 (™ +u® = 4+ 208 — 20 4 3u® — 3ut +u? — 2u+ 1)
(U2 4 20t - — 66u — 19)
cr (' — 6u® —u® 4 14u” + 4u® — 174° — 6u” + 116> + 5u? — 3u — 1)
(P4t = 35u—T7)
cs (ut 4200 + 0 — 30" — 38 — 2u° + 2u® +u +u—1)
c(u?? = 3ut + - 4 85u + 23)
€9 ('t =+ 3u— D —u o —Tu+1)
10 (utt — ut® —u® — 2u® + 208 + 3u® + 3ut —u? — 2u—1)
(U 420t - — 66u — 19)
c11 (ut 4+ 110 4+ 6u + 1) (v — 6u?t + - —2u+ 1)
1o (u + ul® — 7u® — 6u® 4 18u” + 12u8 — 20u° — Sut 4+ Tud —u? +u+ 1)

R )
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (y't — 169" + - + 155y — 1)(y*2 + 19y*! + - -+ — 134113y + 2401)
¢, 07 (" — 12910 + - 19y — D) (%2 — 9y + - — 637y + 49)
c3,Cs, C12 (y11 — 15y + .+ 3y — 1)(y22 — 20y 4+ - — 85y + 1)
Ca (y" =31y + - 4 15y — 1) (9?2 — 4092t + .- — 25y 4+ 1)
Co, 10 (y™ —3y™ = 3y” + 6y" + 8y" +2° — 5y — 9y" — 29" +5y” + 2y — 1)
(y*2 4 24y + - - — 4660y + 361)
cs ("' = 2" — 5y +24° + 99" +5y° — 2° — 8y* — 6y + 3y +3y — 1)
(y?2 +29y% 4 - — 9065y + 529)
Co (y't — 6y — Ty® + 1197 + 2795 + 45 — 36y* — 16y + 16y% + 9y — 1)
Sy 439 - 11Ty + 1)
i1 ('t —23y10 4. — 10y — 1) (y*2 = 5292 + - — 36y + 1)
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